ST 745 i = X 15
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
| WA RT N — | BEAR | ph¥E phiE - - - -
ZHSFHT P X3 — 4980 8.4  —| - - -
LRSS DR L1|h 6.8 12 2.9 2.9 | —
Y iy BLET F P X3 —t 5.8l 9.4 —  —| - —
EEELS OO KR L1|# 9.0 19% 3.6 3.6 —| —
i HET e 1 X3 —hi 6.l 100 —|  —|  —| —
RS DK 30 | L1 o7 154 5.8%i 5.8 |  —
SRET PR P L X3 —l 6. 40 8.9 —|  —| —| —
LRSS ORI 30 | L1|F 9.9 144 8.4 8.4 | —
— DERT Eeeis — | B | bMWY | | o —
FEHEHT ) R —l 4.2 84— —|  —| -
LELMS O KIS L1|h 6.8 12 4.0 4.0 | —
4 JIET o L S —Fl 7. 900 11 - - - —
RERLIA D K 5
1 REMERERLRD 30 | L1|d 13 25F 8.4 8.4 —| —
2 EERLA o 30 | L1|f oo 26 el - —
A SEHT P b X —l 6.2 9.1 —-| - - -
LRSS DRI 1.1[# 9. 4[? 1680 5.2 5.2 — —
A BT L R 30 | L1| ¥ ¥ - - o -
T LR I
1 ERHKIR — 6. 100 —| - —| -
2 RERLSA DX 30 | Li|ho.gf 126 lfey  —  —
ERILIET 2 FH i X3 —h 4.8 9.4 - - - -
LRSI ORI L1 9. 4[: 180 5.8 5.8 — —
2| WRET =353 p:iN —l 598 9.3 | —|  —| —
R T ETHE S _ Lo MRl 30 | L1 JEJH:K’%EH:E ey e - —
EEELIA o il 30 | L1|f 11 25 5.9 5.9 | —
JLAERT £ X A —ft 5ot 9.4 —  —| - —




SF0 TS i = X °H
I RETH 4 - RiET Enbise
R I B B B S B =y i TSt v
% e = * ® = # ®
I JRART FELAA D K18 1.2|d 9.4 185 5.9 5.9 — —
gy H R lunososh 9.4 - —| - —
LRSS 111 o. 4[: 100 3. 280 3.2  —|  —
Z| AR EET R 3 X A e 7oeei 9o | o] | -
EEELS OO KR 30 | L1k o.7h 229 8.4 8.4 —| —
FEAHT AT K 50 | L1 k¥ ¥ | | | —
AT LA DI
1 FRAHLX egs ul | | | -
2 LR KK 30 | L1|F 108 154 6.8F 6.8 —| —
5| AT P Bt eeokioodl | | | -
R T EHE A _E o A iR i 30 1.1 JEJtti’éEttEE ki = obi = — —
LFRLIS 0 s 30 | L1|F87F 18F 5.0 5.0 —| —
K ZRT [EEEIE (A% — | B | PR bEMH MY bW | —
T AR X g
1 RO —9 7.8 9.8 - - - -—
2 LRSI 30 | L1 j: 25 9.0 9.00  —| —
K ESHT i — | AR | e myy - - - -
K HET ek R X5 —lst 5. :Tq 9.4 - — _ _
LFRELISA O K L1|% 9.3 19F@ .40 3.4 —|  —
KIEEHT iR — | e ww - - o -
AT LR Ik
1 AR —ati 7. 806 9.8 @ — — _ _
2 EREEAA DX 30 | L1 13 2 TH T — -
AT le=3;zb: i EE 40180 8.4 | | | —
EERLA O KIS L1 7.3 19F 4.0 40—  —
RAET o F X e —#h 7.8%6 9.8  — - - —
LR DRI 30 | Li|p o 1gh g b | —
KEHT I — | ERER | bedH k¥ | | | —




SF0 TS i = X 3E
KA A4 . Rifkh RIEHGE

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| KIKHT £ P DU ot 5TE 9.4 —|  —|  —| -
AR R A o ik Llﬁ%@E%% v e — —
LIS o Hitd; L o4 (8§t 5.680 5.6 —| —
fi] 4 BT l=353F: i1 —l 5.5l 9.4 | —|  —|  —
ERRLIA O Kk L1$9AE 18540 4. 5 4.5 — —
ANAF B L T e 1 X3 —hl 4.800 9.5 —| —| —| —
RS DK 30 | L1|P 6.5 17 2.4 2.4 —| —
INERER I 2 R i Xk —{#d 6. Ol 9. 5 — — — —
LERUA ORI 30 | L1 7.9F 200 2.3% 2.3  —| —
AN SETR LT R R X3 —t 6.0t 9.5 | —| —| —
LRRLIA o Kk 30 | L4 7.9H 2uE 2.3 2.3 — —
/N T T 5 A M IR —i 5.8 9.5 | | | —
HEEIEANGYES 30 | L1|P 7.9F 20 2.66 2.6 —| —
WA HT Y Hb X —ffd 4. 250 8. 4 - - - -
e NG L1 7.4 129 408 40 - —
RERET = F i D —l 6. 500 9.7 - - - —
ER T FHE R Lo A 30 L1EE$EWE ey kv — -
LFRLAA O iR L1 9. 4F 18+ 5.684 5.5 —| —
/NP SRHT i PR M X —Jti 6. 2Fﬁ 9.4 - - - -
LRCLASR D XI5 L1|f o 4f 145 46 5.4 — -
7y EEEHT = FH b g —ot 6. i 10|  — - — —
NEEIIEINAIFS: 30 | L2|F 1 mﬁaaﬁﬁa - -
fili / A ety 30 | L1 k¥E ¥ - - - -
HBIREAT P P L X fgk ot 54t 9.4 | |~  —
RS X8 L1¢9AE 1960 4.5 4.5 —  —
S4BT fi P b X3 —l r.gpio 9.8 | —| - -
LR DRI 30 | Li|Pogh 20 7.4h 7.4 —|  —
o T £ X A —%7@&93 -1 - - -




SF0 TS i = X 1H
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
7y S0 EET LFCRAS D X teR
1 [EiE 8 B#A 30 | L1 14k 204 864 8.6  —| —
2 LERLIA o i 30 | L1|f 1of 20 7.4b T4 | —
JSET Eeis — | B | PhME phWE e peTH O |
2 Ll Eeit — | BEER| bW hE - - — —
TNAMET ML 40 | 1.1| e th¥E et bR — —
AT LA DI
1 RAHEER A U (R I I R
2 LR KK 30 | L1 11 23 9.0 9.0 | —
FRERHT EaaiH — | BB | bhBE LME kMR bRME —
EAKHT ) R —l 4.2 84— —|  —| -
LELMS O KIS L1k 7.3 12 4.0f 4.0 | —
J& [E BT 2 R L XI5 —t soepfi 100 - —| - -
R TR R Lo R 30 | 1.1 Jﬁthhfﬂﬁ[zttf% v e - —
LRELLA D s
1 [EiE 8 SfHA 30 | L1|h 13 27 5.5 55— —
2 EFLA o sk 30 | L2|f 8T 18F s0fb 50 - —
JIRET (ke |1 — | BEAR | EeTH LEYE ROTH O LRYE - -
A LA KR
1 B —ft 7ooE 1] - — - -
2 RELS ORISR 30 | Lt|po o3 23 o1 - —
JIEHT £ P L U —foti 4.5 8.4 —|  —|  —| -
R T EHENE o> M i 30 | 1.1 Jﬁth@Etb@ ey e - —
LIS o i L 7.3 13d 4.0 40— —
& RRHET =353 p:iN —l el 9.4 | —|  —|  —
MSENCLN IS L1|# 9.3 18#i 5.5t 5.5 —| —
e [ikczp (s — | BSER| b %@rmﬁfw@ - -

LA I




 THSY iF =S < 5E
RO 4, - i ERBBE
B - ; ke Bl G pER T i A ey B s 4%
g " TR XekER) E M R B Ry ] w [ [k e | s [mA
% i & & & 15 % &
| TR AT 1 BRI M 7o 100 —| - —| =

2 ERLSAOXIR

(1) TEEMIERZARERDN 40 | LA|PoaEd 24 19 o1y | —

(2)  _EREELASh DO HuE 40 | L1|% 9.4 187 9.4F 9.4  — —

JbtET FE PR M X3 —#l 5.4 8.9 | —|  —|  —

EEUA ORI L1|h g E 150 5.2l 5.2 —| —

It/ HkHT FE% P XA —ft o6 Tl 9.4 —  —| - —

BRSO IR L1|# 9.4 17H 5.4 5.4 —  —

AL BT B b —|# 5. 6 9. 4 — — — —

RSO KIS L1 9.3 19Fm .4 4.4 —| —

AL Eeitd — | BB | hEE kHE — — -

RZAHTIRE 2 HE R —|# 5. O 6. 4 — — — —

HEEIEANGYES 30 | L1|F 7 sr: LI 6. 600 6.6f  —  —

ARz AR GIE Y Hb X —ffd 5. 28 6. 7 - - - -

e NG 30 | L1|H 9.3 9.8 3.9 3.9 —| —

AR AHTRE = F i —ffd 4. 4 7.2 - — — —
RFRRLIA D K S5

1 [EiE 8 S 30 | Lo|h 16F 35h e 9b ey —|  —

2 EERLA O 30 | L1|F 87 13 54 5.4 0 0 —| —

AREZ AT KRR 2 P [ —l .o 6.4 —| - - -

RS IR 30 | LL|h o 1k o8 3. 1M 3.1~ —

REZAHTE P £ P L U —t 5o 6.4 — - - -

ERLEAA D X I 30 | L2 9.l 9.8k 3,460 3.4 — @ —

AR AR &R P P L X fgk —t 5.l 6.4 —  —| - —

EERLA O KIS 30 | L2|P 8.5 9.7 4. 56 4.5 —| —

Rz AR E 2 P i X —#l 5. Z#f 6. 4 - — — —

LR DRI 30 | L1 8.5 9.7l 3. 960 3.9 —| —

Az AR A e 2 F R e —{t 5.3F@ 7.6 — — — —




SF0 TS i = X 6
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| ARZABT AT b LRSI 30% 1. 1%43 7.?43 1{;@ 4.{2% 4% [
ARG AR AGZ A P X3 —t 4. 7.2 —| - - -
LERLIA o Kt
1 [E3E 8 BRs 30 | Lol o4 4off 4P 47— —
2 EECLIA oD 30 | L1 LU 31 3.9 3.9 — —
AR ZANT R i FR b X g 4580 7.2 | | | —
ERRLISN O XI5
1 [EiE 8 BfE 30 | L1k 15 38# 7.9 7.5 | —
2 LRELU o i 30 | L.1|F 8.7F 14§ 5.8% 5.8 —| —
ARZAHET/NL R R X3 —t s o0 6.7 | —|  —|  —
LRRLIA o Kk 30 | 114 B.gH 12 3.98f 3.9  — —
A ABTAZ Y 2 H —l 5. o0 6.4 | —| —| —
HEEIEANGYES 30 | L2|f 87 9.7 4.8 4.8 —| —
ARZ AHTAL A Y Hb X —ffd 5. 20 6. 4 - - - -
e NG 30 | L2 9.1 o8k 4. 90 4.9 —|  —
A2 AHTT-H = F i —ft 4. T 7.1 - - — —
RFRRLIA D K S5
1 [EiE 8 S 30 | 1L1|h 2B 40 550 55— —
2 EERLA O 30 | L1|fo.gf 15 5.3 53— —
AR ZAHTHE 2 P [ —h 40 71 - - - -
RRLIA DK 30 | L1 7.2 124 60b 60—  —
A2 AHT £ P L U —foti 5o 6.4 —|  —|  —| -
ERLEAA D X I 30 | L1|H 7.9 168 468 4.6 2 — -
AR AT EE L =35k 1w —ff 4. O 7.2 — — — —
EEELMSN 0 I
1 [EhE 8 Sy 30 | L1k 15 35 6.4t 6.4 —| —
2 LFELh o g 30 | L1 8.7 12 5.4 5.4  —| —
A EABTAR £ X A —J#ti 5.5 -1 - - -

’;"@6.4




ST 745 i = X 7H
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| RZ AR ERELISh O Xk 30% 1. 1%43 7.%3 1{;@ 3.{;@ 3f7 [
A2 AHT U P X3 —#t 58 7.2 —| - | -
LERLIA o Kt
1 [E3E 8 BRs 30 | L1|d 17 s9fF 5.5 5.5 —| —
2 EECLIA oD 30 | 11|+ 8.8+ 16H 4.8H 4.8  — —
AEABT R e 1 X3 it 5. srca 6.7 — - - -
RS DK 30 | LO|P 9.3 9.8 3.56 3.5 —| —
AR AHT ILEL T PR P L X3 —l 5 e 6.4 | —| | —
LERUA ORI 30 | L2 7.oF 110 3.6 3.6 —|  —
<| EEFET R R X3 —|t 5.4r~fu 9.4 - - - -
ERLEAS D X I L1|# 9.3 19Fm 4.50f 4.5 | —
[ AT kR A= 30 | L1| ke¥g E¥E O | - | —
AT AR X
1 B —d 6.2 9.4 — - —| —
2 LRELMSA ORI 30 | L1|% 1o 1% 6.2P 6.2 — —
H 45 BT [EicRlAEe: 50 | L1 Lk beME pedy by | —
TR R X g
1 AR —fil 7.4 11 — — — —
2 EERLA DK 30 | L1|# 13r: 24 1 11— —
FEEET 2 P [ —|fii 5. 6r@ 9.4 - - - -
ERRLIA ORI LU o4 1960 3. 908 3.2 —|  —
Z| /h—RHT £ P L U —t 5B 9.00 - - - -
LFELIA D K t5 30 | L1|* Lo 17 6. THE 5.7 — -
A EET it — | BRAR | k¥ Lk - - - -
FALSFET =353 p:iN —l 40900 8.4 —|  —| | —
BRI 0> KR L1|# 6.8 124 4.0 40 — —
HREFHT Pk FH 1L X3 —{#i 5. 60 9. 4 — — — —
FELS ORI 1.1 9.3 19@ 430 4.3 | —




R THS B ® K BH
AR ; Feiit R

e R ks @ A o w4 [P PEEERTIBEITOGES

% e = * ® = # ®

Z| ANEESFET £ P DU ot 4o 8.4 —|  —|  —| -

RSO KR L1k 6.8 12 a0 40 - -

/NRET Fok i X 35 —l 6.0t 8.9 —|  —| —| —

EELIA 0 KR 30 | L1|P 19F 15 6P ey —|  —

LS e FEE FE i X I —E 5.4 9.5 | | | —

EEUA ORI 30 | Li|Pogh 21 2.8 2.8  —|  —

T4t = F AT FE A i X I —l 6.4t 9.5 —|  —| —| —
ERRLISh O KR

1 [EiE8 BB 30 | L1|d 17 87F 2.8 2.5 | —

2 LSO K 30 | L1|H ot 23 2.3 2.3 | —

AR F 4 ) R —l 5. 9.5 | —|  —| —
LRELIA D RS

1 EiE 8 BfiAy 30 | LL|F 19 37 2.9 2.5 —|  —

2 hEELAh oo Hitdk 30 | L1|F8.gf 224 2.34 2.3 — -

AR )1 e I L X3 —l 5. 468 9.5 —| - - —

ERELIS O K 30 | L1 oo.f 2 2.2 22— —

ALHT P b X —t 6 of 9.5 - - - -

MeEINCAN IS i 30 | 11| TO9H 21 2.4 2.4 0 — —

HACET 574 i PR M X ot 4. 8% 9.5 —| - - —

LRCLASR D XI5 30 | L1|de.gd 2it 2.4% 2.1 - -

LTI Fot Y b R s —f 4. 78 9.5 —| - - —

NEEIIEINAIFS: 30 | L1|F oo 2 2.1 2.~ —

THACHT S B < 2 FH i X3 —t 490 9.5 - - - -

LA ORISR 30 | Li|p oo 21 2.3h 23— —

e/ A Fr PR X3 —#t 6. 3l 9.5 —  —| - —
ERELA o K IE

1 [EiE 8 SHtE 30 | L1k 17k 374 2.5% 2.5 | —

2 kLSO 30 | r2|f 1 23F 2.4h 2.4~  —




SF0 TS i = X I
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| #cET R £ P DU ot 4.8 9.5 —| - - —
LA D KI5 30 | LO|H 9o 2 2.0 2] — —
LA fr P M X —l .88 9.5 —|  —| —| —
EELIA 0 KR 30 | Li|Pogh 21 2.0 200 —|  —
AL AT 5 FEE FE i X I —E s.geio9.5 | | | —
EEUA ORI 30 | L1 oo.gd 21l 2.3 2.3 | —
RACHT N Fi R XA —f#di 5. 98 9. 5 — — — —
ER TR HE o> Akl 30 | 1.1 Jattfé’;ﬁtl:z% Loy e | —
LFRLLA o> it
1 [EiE 8 B 30 | L1|F 17 37 2.3 2.3 | —
2 hEEA o i 30 | L1 oo.gHr 2 2.1 2.1 — —
{H1AEHT LR 5 A M IR —i 5.3 9.5 | | | —
HEEIEANGYES 30 | L1|f o.5fF 22F 2.8 2.5 —| —
LT IR Y Hb X —[fd 5. 4 9. 5 - - - -
e NG 30 | L1 9.2F 224 2.3% 2.3 —|  —
HHLRT K725 72 F [t —ft 5. 4pfi9.80 - —| - -
RFRRLIA D K ek 30 | L2|Ho9.gH 2z 2.3 2.3 — -
THALET B R Hb XA —f 5. 3% 10— — — —
SEIICINDIFS 30 | L1|fogf 22 2.3 2.3 —|  —
HEETH R 2 P [ —t 5. 1 9.5 - - - -
RRLIA DK 30 | L1 9.2 204 2.606 2.6 —| —
HACET R H £ P L U ot 6.0 9.5 —|  —|  —| —
ERLEAA D X I 30 | L1|H 8.3 2t 212y — -
HAALRT A 1 P P L X fgk —t 5.4 9.5 —|  —| - —
EERLA O KIS 30 | L1|P o.gf 29 2.8 2.5 —|  —
AL BT 8 K i FH b XA —# 5.6l 9.5 — — — —
LFREIA D K i
1 [EiE 8 Ba 30 | L1|d 17 37 2.9 2.5 0 | —




ST 745 i = X 105
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
Z| HRACET s A 2 LELSOHR 30% 1.1%4J 1{;{3 ZgﬂP 2.{;}: 25 [
HACET — (% P X3 —#t 5.8 9.5 — - - —
LRSS 30 | L2|P oo 21 2.4h 24—  —
WAL ET B FT F P X3 —#t 6.0t 9.5 —  —| - —
ERRLIA O Kk 30 | L1|H 9.2 168 2.08E 2.0  — —
AL AT Rk e 1 X3 —l 5. e 9.5 | —|  —| —
RS DK 30 | L2|pogh 21 2.3p 2.3 —|  —
IRALHT IS 1 2 R i Xk —ffd 5. 3 9. 5 — — — —
RS DK
1 [EiE 8 B 30 | L1|HF 17 37 2.5 2.5 | —
2 hEEA o i 30 | L1 1nHr 23 2.1 2.1 — —
LT A 5 A M IR —i 5.3 9.5 | | | —
HEEIEANGYES 30 | L1 9.5 20 2.4 2.4 - —
AACHT (L Y Hb X —ffd 6. O 9. 5 - - - -
e NG 30 | L1 9.2 208 2.4 2.4 - —
BWACET A R T R FE X I i 6. 16 9.5 —| - - -
RFRRLIA D K S5
1 [EiE 8 S 30 | L1|h 18k 37 2.5 2.5 - —
2 EERLA O 30 | L1|fo.gf 22 2.8 2.5 —| —
WAL e LY 2 P [ —h 5.2 9.5 - - - —
RRLIA DK 30 | Lo ek 20 2.2y~ —
/INSRET [k kIAES: — | BRER | PR bhME ey kW | —
LR R
1 R —l T4 11 |~ —|  —
2 FELS X 30 | L1[f 13[: 23 1 1l | —
A fi P b X3 —l 6.5 9.5 —| - - —
R A _E oD Fl g sk 30 | 1.1 Jﬁlttfégtti’é bbHE b | —
LIS o HHE 30 | 1P 8. 9f 18F 5.0 500 —| —




ST 745 i = X 11E
KA A4 . Rifkh RIEHGE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
Z| sheErT 2 FH X e —fidi 5.3l 9.4 — — — —
FELELA D K S5 119 9. 4[: 19r@ 3. zrﬁm 3.2 — —
S| BLET gt 30 | 1| e bk¥E b kW | —
YEBFRT l=353F: i1 —l 7o 9.1 |~ | —
LR O Kk L1 9 4[: 1670 5. 3k 5.3  — —
=FnHT gt — | BEER | kY tl:fEr - — — -
U| L4RHT FE A i X I —l 73R 9.4 | —|  —|  —
ERRLISh O KR
1 REMARERLD 30 | L1|d 13 25F 8.7 87 | —
2 LSO K 30 | L1|F 10k 21 6.5 6.5  —|  —
HiAm ¢ T Ee — | BRAR | LbMH M b beMy | —
T kR A= 50 | 1.1| ¥ PRYE bRV MR | —
AT AR X
1 B —d 7892 —| - —| —
2 LRERIA DK
(1) HEE 8 Sy 30 | L1|h 14 25F 7.8 7.8 —|  —
(2) BB RBFAERARERLD 30 | Lok 12tk 24 7.8 78—  —
(3)  LRCLASh DM 30 | 1Lo|F 10 24 6.7H 6.7  — —
T HRiRHT AL i 50 | 1.1 tb#E e My bhHE - —
T LR I
1 ERHKIR — 78 9.2f - - —| -
2 RERLSA DX 30 | Lo|f 12fr 200 6.7 6.7 —| —
T2 HBHT 2 FH i X3 — 6.2 8.9 —| - - -
LA ORISR 30 | Li|Pogh 3eghey —| —
FAAKET Fr PR X3 —ft 4.1l 8.4 | | - —
BRI 0> KR L1k 7.3 124 4.0 40 — —
TiH Fr P 0 —ft 488 9.5 —  —| | —
FELS ORI 30 | 1.2 - -

6.6 16’%‘@. 2.3 2.3




ST 745 i = X 128
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
L| AT (ikcakAE: —% %ﬁ% J:I:Yg I:I:fg J:I:é l:l:fgl f j
A% I
1 AR s 104 | | | —
2 FELISN X, 30 | Lo|f o 4[: 17 8.4 8.4  — —
+Jumr FE PR M X3 —l 490 8.4 —|  —| —| —
EEUA ORI Li|he.gb 12d 40h 40 —| —
HEHET Fe% i i1 ds —oeopti 1~ | —
ERRLIA O Rk 30 | L1|% 10 17l 6.5l B.5  — —
HLET ESeEn 30 | L1| kg J:l:?Er = e e
FHESRRT e A% 50 | 11| e#E bR pevE bRy | —
TR AR X g
1 R R —ft 6.9 10 - - - -
2 FELUAO KR 30 | L1 1F 16F 8.4ap 8.4 - —
Hr T [EE(AES: 50 | L.1| re¥E bR¥E HME HEME - —
T LR K dek
1 R —t 7oA 11| - - - —
2 hELA DX
(1) &8 Z#pRw 30 | 1L1|R 14 27 9.4 9.4 — —
(2) EFELSOHIE 30 | L1|d o1of 1% 8.4 8.4 —| —
HTEE ST = PR Ik — 7.4 o100 - - - —
RSO RKIR 30 | L1 9.8 164 9.4b 94 —|  —
PRE{ET Eeei) — | BRI PR K - | -
5 BE 2 FH i X3 —#t 6. Ofl 9.5 - - - -
AR T _R o Mk 30 | 1.1 JEJLI:@EJ:I:ZE beve berE o | —
EEELASN 0> iR
1 [EhE 8 Sy 30 | L1k 1 27% 5.8 5.5 —| —
2 _EELISko M 30 | L1|Pggbh 18 s0h 50 —|  —
ENN) Bt — | BRER | Lhif| b i bkl | -




ST 745 i = X 138
HXATF 4 . R RIGHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
aEEEGE £ P DU —Jiti 6. 3rﬁ 9.4 - - - -
EFRLLAS D K I L2 | 9. 4 19Fﬁ B.ATPQ 34 - —
FREEET iR (aEs:7 40 | 11| bkvE bkvE vE e | —
AT LR X
1 A 7.4 9.4 | | | —
2 ERRESA O XK
(1) EEMGEAZARERA 30 | 1|1 osfR 1R 11— —
(20 kRS o HR 30 | L1|P 10 17 8.4 8.4  — —
FREREENT 2 F i Xtk —l 6. 300 9.4 | —| —| —
RSO KIS L1, 4E L4 4. 1l 41— —
| GARHET R Hb R —ffd 4. 3 8. 4 — — — —
LRELIA D RS
1 EiE 8 BfiAy 30 | LU|F 14 33F 4.3F 43— —
2 _ERLEA iR L1|h 7.5F 149 4.0 4.0 — —
BT 7 F i [ et 6o 0.1 - —-| - -
ERELIS O K L1|# 9.5 184 5.50 55 — —
BBPHT P b X —t 5o 9.1 - - - -
LRREADRIR L1 9.6 18+ 5.584 55 —| —
7ol KACSFHT i PR M X ot 5.3 9.5 —|  —| - -
LRCLASR D XI5 30 | L1|H 9. 224 2.3 2.3 — -
BB Fot Y b R s —f 540 9.4 —| - - -
ERES o IR L2 9. J: 150 5.3 5.3 —| —
RAFHT = P XU —t 6.8 9.1 - - - -
AR T _R o Mk 30 | 1.1 JEJLI:@EJ:I:ZE beve berE o | —
RERLIA O I 30 | L1|P 1 15F 5o 500 | —
RFHET fi P b X3 —t 48894 —  —| - -
EESAORIE L1|h g 4E 180 5.6 5.6/ — @ —
& HAT Eaeioy — | R | M o | o | -




ST 745 i = X 14E
HXATF 4 . R RIGHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7z| & A BT £ P DU —fti 6.6 9.2f  —|  —|  —| -
EFRLLAS D K I 30 | L2|hoo.ff 16k 3 1M 3. — —
e H BT R fr P M X —l 6. 4p 100 —|  —| —| —
EELIA 0 KR 30 | LO|P 8. oF 19 3.2 32 | —
‘HETH A FE PR M X3 —# 6. 880 9.8 | —| —| —
LFREIA D K 5
1 [EiE 8 A 30 | L1|d 21 384 3.8 3.8 | —
2 kFCLA o Mtk 30 | L1|P o1ffo 19 3.2 3.2 — —
= A TR 2 F i Xtk —t o7 o100 |~ —|  —
ERUADKE
1 EHiE8EHBBN 30 | L1 19 364 394 3.9 | —
2 LECBUt o HbR 30 | L1|F 9.6F 210F 3.3F 3.3 —| —
=LA BT o L S —t 6. 30 9.8 | - - —
ERLEASR D X 30 | L1|F 1o 19+ 3.2d 3.2 — -
m HE R R b X —ffd 5. 7 9.8 - - — —
ERELIS O K 30 | LO|To.Tf 16 3.1 31— —
= H BT R P b X —t 6o 9.8 - - - -
LFRELLS D K3,
1 [EiE 8 5BHhn 30 | 1L1|F 21 374 3.8 3.8 — -
2 _ERCEA DR 30 | L1|F 1of 19 3.2 3.2 — -
A A A Pt FH 1L X3 —f 5.9 9.50 —| - - -
NEEIIEINAIFS: 30 | L1|f o7 18k 328 3.2 —|  —
5 A ETRE R FH b Rt —{t 7.0ré 11 - - - -
LA ORISR 30 | Lo o4 2080 3.260 3.9 —| —
& H BTREET £ P X S —#t 5 gt 9.5 —  —| - —
BRI 0> KR 30 | LO|P o7 18k 3.2 3.2 — -
A BT ER Fr P 0 —¢t 5.6 9.5 —|  —| | —
FELS ORI 30 | Lol|f o.qh 18F 3.3 33 | —




ST 745 i = X 165
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
iz| BAETEA £ P DU — 7 opE 18 - - | -
LIS D Ktk
1 [EiE 8 SHta 30 | L1|h 20fF seh 3.8 38 | —
2 _EILISN o HE, 30 | L1|f ool 23t 3 o3l | —
AT 8 B FE PR M X3 —#l .50 9.8 | —|  —| —
EEUA ORI 30 | L1 oo 16l 2.9 2.9 —| —
e H BT <5 P P X de —t o 11| - | | —
ERRLISh O KR
1 [EiE8 BB 30 | L2F 21F 36+ 3.8k 38 |
2 LSO K 30 | L2|F 1 194 3.2 3. | —
& A BT s R R Hb R —ft 6.2 11 — — — —
LA O K 30 | L1|F 9.4F 1980 3.28 3.2 —| —
51 H BT P9 7 2 R L XI5 —4t 5.6 9.5 —| - - —
ERLEASR D X 30 | LO|F 9.7 18l 3.0 3.0 — —
= H BT #30 R b X —ffd 6. 30 10 - - — —
ERLLASR O K I 30 | Lo|f 89 20 3.3P 33 - —
5 A BT P P b X —t 5. 60 9.8 - - - —
LRREADRIR 30 | L1 o 19 s3b 3y | —
ren H BT SRRl P i PR M X —it 6. 4 13— - | -
LRCLASR D XI5 30 | L1|H 8.7 200 3.3 3.3 — -
P LU Fot Y b R s —if 6. 860 9.8 —| - - —
RO K 30 | LO|F 89F 197 3.3 3.3 —| —
5 7 BT SR R FH b Rt —fidi 7. 1 9.8 — — — —
LEREA o Kk
1 [F3E 8 B 30 | 1.1|F 20f 37 3.8 3.8 —|  —
2 LERLS o 30 | LO|H 9. U 224 3.3 3.3 — -
& A BT RN Fo F b K —{#i 6. 468 10 — — — —
FELS ORI 30 | LO|f oot 20 3.3 3.3 | —




ST 745 i = X 165
HXATF 4 . R RIGHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
iz| & A BT A A £ P DU ot 6.4 9.8f  —|  —| - -
EFRLLAS D K I 30 | LO|f 8.9ff 195 3.2 3.2 — —
e H BT ORIE SR fr P M X —l 6. 488 9.8 —|  —| —| —
EELIA 0 KR 30 | L2|Poqh 1ef 3.5 35 —|  —
& H BTE = P i X 4 —|#h 6. 4 9.8 — — — —
EEUA ORI 30 | Lo|P o 16336033 | —
A ETRS - FE2 F X 3 —#t 6.6t 8.8 —  —| - —
ERRLIA O Rk 30 | L1|ho.7f 164 3.6 3.6 @ — —
EELIEE 2 F i Xtk —l 5.9t 9.5 —|  —| —| —
RSO KIS 30 | LO| o7 IS 3o 3y —|  —
& A BT R Hb R —ffd 6. 48 10 — — — —
LA O K 30 | L1|FoTF 18F 3.2 39 | —
51 H ET#RAS 2 R L XI5 —4t 6. 4l 9.8 —| - - —
EFRRLIA D Kk 30 | L1 oo 19 3.2d 3.2 — -
=1 H BT R R b X —f#d 6. 20 9.8 - - — —
ERELIS O K 30 | L1|FowfF 219 3.3 33— —
& A ETRA L R Hb X —fidi 7. 16 9.8 - - - -
LFRELLS D K3,
1 [EiE 8 5BHhn 30 | 11|+ 20fF 37# 3.9+ 3.9 — -
2 _ERCEA DR 30 | L1|Foo.uff 22t 3.3P 33 - -
ESLEL Fot Y b R s —o7.eRE 11—~ - —
EFRLA o I
1 FEHGERERER) R, 30 | LO|h 14f 28 7.7P 7.7 | —
Wl RIGITIR, KEAEEARE
AR
2 ELS o 30 | L1 1F 18d r4ab 4 | —
A ET fi P b X3 —l 5ol 9.4 | - - -
EESAORIE L o.gb 19d 4.7h 47 —|  —
STk £ X A *%BJﬁQA -1 - - -




ST 745 i = X 178
HXATF 4 . R RIGHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
fz| wEET Bz oK L1 8.6 19§ 4.9 4.9 —| —
i ET l=3jibeilEN —t 6. Al 940  — - - —
LRSS L2|h 9. 4[: o0 4. 10 4.1 — —
HET l=353F: i1 —t 6.8l 14 | | | —
ER B A R i 30 | 1.1 JEJtti’éEtt@ e e - —
EELIA 0 i 30 | L1|Pggbh 18hsohsg  —|  —
Fuliy FE A i X I |t o5 4 9.4 | | | —
ERRLIA O Rk LU 9.3 198t 2.4k 2.1 — —
A HT L IR 40 1.2 rh¥E J:I:.YEr [Pkl s e - -
TR b A X
1 B H K Wl orosioo.g | | | —
2 LRSS ORI
(1) EZHFE AR R IR, 30 | Lo|f 12 23 P T - —
B RIGIVTAR, I BB
(2)  _EREELASh DO HuE 30 | Lo|f 1ff 19% 6.7 6.7 — —
H| FEAT M LXK 30 | 11| e¥E H¥E v e | —
AT AR K ek
1 AR —d 5.5 9.1 | | | —
2 ERELSF DX 30 | L1|h8gh 1262462 | —
2| A o 8T e A Xk —bt 6. b 9.5 —| —| | —
R TR L o A e 30 | 12 J?Jtti’é[:ttﬁ ke pe¥E - —
ERLLASR D i 30 | L2|d 87 154 5.0F 5.0 — —
C| <FAMAT 5 A M IR —bl 5.4 9.4 | | | —
ERELAS O KR L1[#F 9. j: IGT@ .ol 53— —
<F HHET b 50 | 1.1 rk¥E bRV ttﬁﬁr e - =
T L X
1 R — 7.8 11—~ o —
2 hELA X
(1) JIE BRIy In 30 | 10| 13k o3k 7.9 7.9 | —




&0 TS s R K 185
KA A4 . Rifkh Enbise
R G M S T T T 0 = i TS AL AR
T| SFEET (2) BRSSO HIR 30% 1.0:: 1243 1{;}: 6.Z¢ 6& B -
=1L P FH b X S —bati 6. T@ 9.4 - - 4 =
LRSS LU o4 140 4680 4.5 —|  —
T LET l=353F: i1 —ft 54l 9.4 —  —| - —
LR O Kk L1 9 4E 1500 5.6 5.6  — —
BT e — | BAR | fLi tl:f%r -1~ - -
53 RET R ) e —iti 6.7} 9.7 — — — —
ERRLIA O Rk 30 | L1|F 10 15l 5.4 5.4 @ — —
= My i A KR —ti 4. Tﬁa 84 - - - -
FELA DX L1 6.8d 124 4.0 400 —| —
7ol = HMT ke 30 | L1 ke oy - - | —
HEFmy o P M X A —f#t 6. 6l 9.1 — — — —
R T AHE VA _E O F i bl 30 | 1.1 J%thz%r;tti’é e ERME — -
RFRLLA o> Hitkek 30 | L1|h 87 LT@ 3.0M 3.0 — -
Ly 2R — || o o o o o -
4 EHT A M et 54804 — - - -
RFRRLIA D K ek 30 | L1|F 1off 17 5.5 5.5 @ — -
FIARET 2 P b PR —Jili 6. 4Fﬁ 9.3 — - - -
LRSI L1 9.4 187 5.8 5.5 — —
HIHT = R Hb R 3 —feati 4. 160 8. 4 — — — -
FERRAA O K LU 7.3 1gd 4.0 40 - —
i HRET kel
1 ARTTETENE _E oo sy T30 | 30 1.1 Lk [h¥e kv e - -
2 LERA o 40 | 11| bk¥ bh¥E R bkE — —
T LR Xk
1 R — oo 100 - - - -
2 kLUK 30 | Li|p 1o 296363y —|  —
Pa R HHET KT P2 F X —Ht 4. 1F@ 9.9 | - | -




ST 745 i = X 198
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
V| PRI ET A EFepS o K * Lf¢6j¢ ﬁﬁsﬁ%3ﬁ [
PHERIFET/NL 2 F Rk —|t 3. 2%k 7.9 — - — _
LRSS L1 5.gf 9.8t 2.6 266 —| —
PIRFFET 2 B F P X3 —t o2 gt 81| - | | —
EERLS O K
1 [EE 8 BfiEy L1 toff 1400 3. 40 3.4  —| —
2 kLo L1[h 5.0 9.5 2.9% 2.9 —|  —
Pa v AHET Rl PR P L X3 —l 3.5 .9 | | | —
LRSS ORI L1 6.9 o860 3. 16 3.1 —| —
P R R HE R 2 X I —t 4Tl 81— | - —
R O K IE
1 [EiE 8 B L1|#F 1o 14% 3.8 3.8 | —
2 LELU OISR L2 6.5 10 3.3 3.3 —|  —
P BT R Y Hb X —f#t 4. Tl 8.1 - - -
LRELLA DR S5
1 [EiE 8 SfHA L1|F 10 14%0 3.8 3.8 —| —
2 _ERCEA Ot L1[H 5.9 98 Wi 3.3 — -
FARIFAIER T R Hb XA —if 4. 5 8.1 — — — —
LRSI L1 6.9 o.8% 3. 166 3.1 —| —
PR SFHT 2 P [ —h o420 81— - - -
ERRLAA DK L2 6.8 9.8 3.60 3.5 —| —
PR HET A £ P L U —d 3 e 81 | |~ —
EREEAA O KIS L1k 6.6 o7 2.8 2.8 —| —
FEVRITET A P P L X fgk —t s el 81| | | | —
RS X8 L1 6.9 9.8 2.6 2.6 —| —
AR fi P b X3 —l 4l 81 | —| - —
LR DRI L1 6.5 980 3.3%0 3.3 —| —
Pa R H AT £ X A —%4ﬁﬁ8¢ -1 - - -




ST 745 i = X 208
KA A4 . Rifkh RIEHGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
(7| FERHETE R LFCRAS D X teR
1 [EiE 8 B#A L1|#H 10 143 3.86 3.8 —| —
2 LERLIA o i L1$65¢93%3JE33 - -
PR HET\ 6 P P i X S5 e T | B R I
LR O Kk L2 5.gff 9.8 2.8%6 2.8  — —
ke FRE AN i FR b X g —i 4.6 8.1 | | | —
ERRLISN O XI5
1 [EiE 8 BfE L1 1off 14 3.9k 3.9 —|  —
2 LRELU o i L1 6.5 9860 3.360 3.3 —| —
PR SFET S R A L X I —t 44t 81 |~ —|  —
LRRLIA o Kk 1[4 6.6 9.8 3.0 3.0 — —
PERIEHT L 5 A M IR e 2.9 8.1 | | | —
HEEIEANGYES L1 5 1 9.8 2.8 2.8 —| —
ML Y Hb X —|fi 3. 20 8. 1 - - - -
LRELLA DR S5 L.1|% 5.6F 9.8% 2.5 2.5 - -
PR HHT 42 = F i —ft 4. i 8.1 - - - -
RFRRLIA D K S5
1 [EE 8 B L1[F 10 1440 3. 656 3.6 - -
2 EERLA O L1¢65$9ﬂ%23ﬁ2ﬂ -| -
VG R TR 2 P [ —t 3.5 81— - - -
RRRLLA D S LU 5.8 9.8 330 3.3 — -
PaRHHT Eeei) 30 | 11| k¥ mﬁriﬁrmﬁ - -
[ ] 2 FH i X3 — 7 491 - - - —
T AHEVE L oo At 1.1 S Ee ¥ vl bl b — -
LIS o s L1 9.4 18F 5.59H 5.5 —| —
A _LSRET it b 30 | 2| bW k¥ b W - —
AT AR K ek
1 AR — -1 - - -

Wi 7. 0’@ 10




ST 745 i = X 21 E
KA A4 . Rifkh RIEHGE
S (TR wass @M m oW g [P ACEERTEECEA RS
2| v Lty 2 LSO R L TR T A P P B I
SRAKAT P X3 — 4980 8.4  —| - - -
LRSS DR Lfh 7.3 1o a0 4.0 | —
PAEFET l=353F: i1 —l 59t 9.1 | —|  —|  —
EEELS OO KR L1|# 9.6 19% 5.5+ 5.5 — —
FaASHET e 1 X3 it 5. (T@ 9.4 - - - -
RS DK L[ 9.3 19 5. 3% 5.3 |  —
HrE T PR P L X3 —l 4180 8.4 | —| | —
LRSS ORI L1k 7.3 12 4.0 4.0 | —
| FEHET 2 X I —t 5.8l 9.4 —  —| - —
LRRLIA o Kk L.1[# o9 4[: 13 4. 840 4.8 — —
YFHRHT 5 A M IR —fll 5. Taz 9.4 | - - -
HEEIEANGYES L2[h 9.3 19 5. 3% 5.3 —| —
gl Y Hb X —|ffi 5. 9l 9.4 - - - -
HEEIEANGTFS L1k 9.4 19 4.7 4.7 —| -
WP FHT = F i D —l 4. 00 8.4 —| - | —
RFRRLIA D K ek L1l 7.3F 129 4.0f 40 — -
BFATA] R Hb XA —g 7. 1rﬁ 9.1 — — — —
LRSI L1 9.4 184 5.9 5.3 —| —
V3 J\GRHET o2 T X 35K —oeoi 12 | | | -
LIS O K 30 | L2k o9.7b 158 6.5 6.5 00— @ —
Rl T £ P L U —ft 4. o 8.4 - - — -
ERLEAA D X I L1|# 6.8 124 4.0 40 — —
FUTET ML Rk 30 | 1.1 rk¥E bkvE bevE kv | —
AL A X8
1 R —ioe.epi 100 — - — =
2 EELIS O X 30 | L1fh o1 21t 6.3 6.3 | —
N HERHT £ X A —JAti 7. 4f@ 9.1 — - - -




ST 745 i = X 20 E
HXATF 4 . R RIGHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Oy AR FEFHET BRSO KR L1 9.4 18F 5.9 5.9 —| —
W=t T b Kk 30 | 11| Bh¥E W HovE bW - —
AT {L A X
1 A —|#i 6.8 10— — —
2 EELIAA DX 30 | L1 LU 200 6.2 6.2 — —
HEPHT i FR b X g —{#i 6. 4460 9. 4 — — —
RS DK L1 . 4[: 14 6o 6.0 —  —
SEIFRT Eee — | BRAR | shug prvE - -1 -
¥R £ — | B | sbny pvE - -1 -
FERET A L X I —Wl 5.9l 9.1 - — —
LRRLIA o Kk L1 9.6f 18F 5.8F 58 — —
L5 AR BT 5 A M IR —fl 5.560 9.0 — - -
HEEIEANGYES 30 | L1 10F 17Fm 5.7 5.7 — —
53 ARHT ot — | BEAR | stME HME | - —| -
(& PRAET = [ —fl 6. 9l 9.4 - - - —
ERELIS O K 30 | L1|h 1off 1§t 6.9P 69— —
HERESFHT P b X —t 7.3 9.4 - - - -
LRREADRIR L1 9. jj 1680 5.2 5.2 — —
#M{THET i P —t 4. 16l 8.4 - —| - -
LFRRLS O XI5
1 [EE 8 HfR 30 | 1L1|F 20 354 4.34 4.3 — -
2 RERLS O 30 | L1|fo73d o 13% 40d 40— —
TRZHT = P XU — 6.5 100 —| - - -
LA ORISR 30 | Li|P 1o 1962y  —| —
Y ER T fe P L DI —o 7.ooft 100 — - -
BRI 0> KR 30 | LL|H LOH Leff 6. ki 6.1 0 — -
ANEEHRT frd i L X Ja —et 6. 880 11— - -
FELS ORI 30 | L1 9.7 15@ 6.4 6.4 —| —




ST 745 i = X 23E
HXATF 4 . R RIGHEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
k| 2 FHET £ P DU ot 4o 8.4 —|  —|  —| -
RSO K L1 6.gf 124 4.0 40 —| —
A =JIET it FE b X S —|#i 5.8 9.1 - - - -
RTINS B0 g 30 | 1.1 EJH:Z%EH:Z% ey b - —
EERLIA o Hitkek 30 | L1|h 7.6 117 5.0 5.0 — —
= AT P B M R4 —fei 7303 | | - —
T E AR o R 1.1 Elttz'érl:ttz’é ke b - —
EFRLIA o Hitkek L1 9gf 180 53053 — —
=W RHT gt — | BRI bW b | | | -
= R IuHT ks — | B seME om¥E | | | —
Hmy Ee — | BRAR | sbMH beEE | | | —
e LT 5 A M IR —ft 7.3 9. 4 - - - -
ERRLIA ORI L1 o9 I: 15F@ 5. 5.3 — -
P /I T b X g 40 1.1 th#E R H:EF [Fefics - -
T L X
1 R i 7.4 9.4 | - - -
2 EREEIA DX 30 | L1|F 1off 21t 979 — -
L HRET EE807 — | B | k¥R e - - - -
e FET T Eetin — | BE# | PEHH EWE KV bt“!%‘ - -
¥ FH FAFET R Az 50 | 1.1 ie¥E bedE HewE e - —
AT LR Kk
1 ERHMXIR ot 7.4 100~ |~ —
2 EREEAA DX 30 | L1|H j: 26 9.0h 9.0 — -
FA AT P P L X fgk 41t 8.4 | | | —
EERLA O KIS L1 7.3 1 4.0 40— —
il [ERca A — | BEAR | PLME k¥ Lbve b | —
AT AR K ek
1 AR —#l 7.8F@ 9.8 | - -] -




ST 745 ®OX 2UE
HXATF 4 . R RIGHEE
TIE; B (TH) k=4, W i zjtm — Eﬁﬁﬁéﬁﬁujﬁ%:%fé{%gﬁ% —
% e & & e o
A=l 2 LRSS OKIK 30 | 1.1 14 267 9.3 -
= T l=3jibeilEN —t 5. 80 100 — -
AR TR oD iz sk 30 | L1 JEJLI:%EH:@ i -
RELIS O 30 | L1|f 8.9 18% 5.5 —
= RIAT g — | BEAR | LMY thvE -
Lo A ML — | HSRR| k¥R Lk¥E k¥ -
AT LA DI
1 RAHEER —Fh 7.8 9.8 — —
2 LR DR 30 | 11 18 23/ 9.0 —
| JCIEAT E=3th — | B rbuy p¥E -
ARHET ) R —F 728 10 — -
LRELIA D RS
1 EiE 8 BfiAy 30 | L1 g 33F 11 -
2 FEHFEAZRRERB 30 | L1 13 244 11 -
3 LEELU O R 30 | L2|F 8.5F 17F 9.4 9.4 —
R A RT = F i - il 8. 4 - -
RFRRLIA D K ek L1|d 7.3 12t 4.9 -
AN A M R — 9.1 — —
AT SHENA o> A s iR 1.1 J%tt‘ﬂ%r;tti‘é i -
ERCLLSR oD Hirksg 1.2 LOFF 18 5.5 -
PR T e — | BRER | LbUE LW LLYE -
LIF&HT kel — | BEAR | LbME LR LT -
A AR Kk
1 B A O BT -
2 FELS X 30 | 1.1 14[: 25 9. 2 —
1./ AT fi P b X3 —#t 5. 7l 9.4 — —
EESAORIE L1 9.gf 184 5.5 —
I\ L BT E=eig — | B | LhdE kB LI -




ST 745 i = X 2 E
KA A4 . Rifkh RIEHGE

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
A B — | B | PR phuE e bhWE | —
W SHIET P X3 —Ft 4.2 8.4 - —| - -
LRSS DR L 7.3 1gd 40 40— —
FRET l=353F: i1 —l e et 9.1 |~ —|  —
EEELS OO KR L1|# 9.6 19% 5.3F 5.3 — —
I REMTHT it FH 1L X3 —hl 3. o8t 7.8 | —|  —|  —
RS DK L1[P 6. o 1ot 3,38 3.3 —|  —
RIATETH PR P L X3 —l 3.9t 8.8 | —|  —| —
LERUA ORI L2 6.9 100 3.360 3.3 —| —
ARELET/ N R R X3 —t 3. o0 8.6 | —|  —| —
LRRLIA o Kk L2 6.2 108t 4.5% 4.5  — —
REHTEIE st - - Wiseis7 | —
RIZETRPR Eoei -1 - —L3J%3J - -
AR ZHT/NE Y Hb X —|fli 2. 6l 6.2 - - - -
e NG L2 6.2 1080 3. TRE 3.7 —|  —
A ABT EFHE R FE X I i 3.3 6.4 —|  —| - -
RRELAA O 1K 8 L2 h 6.2 o THE 3.0 3.0 - —
REHET A 2 P b PR —0 3. o6l 8.6 —|  —| - —
LRSI L1 5.8 108 2.9%f 2.9 —| —
A AHT[E % = PR Ik —l 3. 30 8.6 —| —| —| —
ERRLIA ORI LU 6o 9.7 2.9 2.9 —|  —
RIRATIR N £ P L U ot 4.6 8.8  —| —| - —
LFELIA D K t5 L1 e 2rf 11 3 146 3. — -
RAET TR Fr P I —l 3.4t 6.4 —|  —|  —|  —
RS X8 L2 6.9 108t 3.08 .00 —| —
AR TRA fi P b X3 —l 4. 70 8.8 —| - - —
EESAORIE L1 5.8 1ot 2.660 2.6 —| —
RRMTHT P2 X fg *%SJﬁSﬁ -1 - - -




ST 745 i = X 26 E
KA A4 . Rifkh RIEHGE

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
K| AR EFepS o K L2 6.2 1080 3.9 3.3 —| —
RAHTE P X3 —#t 2.6 6.4 — - - -
LRSS DR L2 6o 1o 3. 980 3.9 —| —
AT B F P X3 —t s i 64— | - —
EELLAS D KN L1|# 6.2 10% 3.86 3.8 —| —
REHTHF it FH 1L X3 —ht .60 6.2 | —| —| —
RS DK L2|h 6. o Lot 3.4 3.4 —| —
RRATHE FE% P 1% dg —fh 488 6.2 —  —| - —
LERUA ORI L2 6.9 100 3. 460 3.4 —| —
RIZET 2 X I —t 45l 6,20 —  —| - —
ERLEAS D X I L2 6.2 108 3.6 3.6 —| —
REATH 2 5 A M IR —l 4.6 8.4 | | | —
HEEIEANGYES L1 6.2 10 3. 66 3.6 —| —
REHETEH =ty -1 - —E@ 3.7l 3.7 —|  —
SRR R b X —ffd 2. 8l 8. 6 - — — —
ERLLASR O K I L1|# 5.6/ 9.7 3.5 3.5 —| —
AR P b X —t 3. 3 8.8 —|  —| - -
LRREADRIR L1 6.2 9.7 3.680 3.5 —| —
REETNF i P —t 3. 260 8.0 —| —| —| —
LRCLASR D XI5 L1 5.7 1ot 3.3 3.3  — -
RAETHN S HE Pt FH 1L X3 — 4.5 6.3 - - - -
EFELS O IR L2|h 6.2 108 3.9 3.9 —| —
AT 2 FH i X3 —h 4.4 6.2 - - - -
LEREA o Kk L2 e o Lofh 4. 266 4.2 — —
Iy~ EZRT Eein — | B | LM m@rmﬁfw% - -
9| AIALET fi P b X3 —ﬁ6AL9A e e
LR DRI L1 8.6 19 4. 6f 4.6 | —
AL SRET £ X A —%54@93 -1 - - -




ST 745 i = X 2TE
KA A4 . Rifkh RIEHGE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * = = # ®
| EESFRT EFepS o K L1|f 9.3 19F@ 34Tr»£ K B
Y FIRET T b Kk — | BEAR | PhEE k¥ kHE ke — -
AT {L A X
1 X M o7oeeE o100 | | | —
2 R ORIk 30 | L1[|$ o 4[: g 1212 — —




